

Exact Traveling Wave Solutions and Conservation Laws of (2+1) Dimensional Konopelchenko-Dubrovsky System

Emrullah Yaşar *, Ilker Burak Giresunlu

Department of Mathematics, Faculty of Arts and Sciences, Uludag University, 16059, Bursa, Turkey

(Received 13 May 2015, accepted 16 September 2016)

Abstract: In this paper, we establish exact traveling wave solutions for the (2+1) -dimensional Konopelchenko-Dubrovsky system using the $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method. In addition, we derive local conservation laws of the (2 + 1)-dimensional Konopelchenko-Dubrovsky system by the multiplier approach.

Keywords: traveling wave solutions; (2+1) dimensional Konopelchenko-Dubrovsky equation; $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method; conservation laws; multiplier approach

1 Introduction

As stated in [1], nonlinear evolution equations (NLEEs) are widely used as models to describe complex physical phenomena in various fields of the sciences, especially in fluid mechanics, solid state physics, plasma physics, plasma waves and chemical physics. When a NLEE is analysed, one of the most important question is the construction of the exact solutions for the equation [2]. In the open literature, quite a few methods for obtaining explicit traveling and solitary wave solutions to NLEEs have suggested such as the inverse scattering method [3], the bilinear transformation method [4], the tanh–sech method [5, 6] , the extended tanh method [7, 8], the sine–cosine method [9, 11], the homogeneous balance method [12, 13] , the pseudo spectral method [14], the (G'/G) -expansion method [15, 17], exp-function method [18], variational iteration method [19], homotopy perturbation method [20], the first Jacobi elliptic function method [21], Lie group analysis method [22] and so on.

The pioneer work Li et al. [23] introduced the $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method for a reliable treatment of the nonlinear wave equations. The useful $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method is widely used by many such as in [24], [25], [26] and by the reference therein.

On the other hand, conservation laws plays an important role in the analysis of basic properties of solutions. The existence of a large number of conservation laws of a partial differential equation (PDE) is a strong indication of its integrability [22]. They are used for analysis, in particular, existence, uniqueness and stability analysis and construction of numerical schemes [27]. In addition, in the numerical integration of PDEs [28, 29], for example, to control numerical errors, conservation laws are also used.

The first objective of this paper is to apply the two variable $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method to find the exact traveling wave solutions of the following nonlinear (2+1)-dimensional Konopelchenko–Dubrovsky system [30, 32]

$$\begin{aligned} u_t - u_{xxx} - 6buu_x + \frac{3}{2}a^2u^2u_x - 3v_y + 3au_xv &= 0, \\ u_y &= v_x, \end{aligned} \tag{1}$$

where $u = u(x, y, t)$, $v = v(x, y, t)$ the subscripts denote partial differentiation, a and b are the real parameters. For $u_y = 0$, equation (1) is the Gardner equation (combined KdV and modified equation). For $a = 0$, equation (1) is the

*Corresponding author. E-mail address: eyasar@uludag.edu.tr, ilkerbg@uludag.edu.tr

well-known Kadomtsev–Petviashvili equation and modified Kadomtsev–Petviashvili equation for $b = 0$. In [11], the authors have obtained exact traveling wave solutions of (1) by using the sine-cosine method. Wang and Zhang performed the modified extended tanh function method to the system (1) and obtain abundant new exact solutions of the equation in [33] (see also, [17]).

The other purpose of the work is the construct the local conservation laws of the system (1). For this aim, we performed the multiplier approach ([22, 34]) to the Konopelchenko–Dubrovsky system.

The plan of the paper is organized as follows : In Sec. 2, we give the description of the two variable $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method. In Secs. 3, we apply this method to system (1). Section 4 is devoted to the conservation laws. In Sec. 4, some concluding remarks are given.

2 $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method

First, we need the following preparations (see [23], [24], [26]):

If we consider the second order linear ordinary differential equation (ODE):

$$G'''(\xi) + \lambda G(\xi) = \mu \tag{2}$$

and set $\phi = \frac{G'}{G}, \psi = \frac{1}{G}$, then we get

$$\phi' = -\phi^2 + \mu\psi - \lambda, \quad \psi' = -\phi\psi. \tag{3}$$

Case 1. If $\lambda < 0$, then the general solutions of Eq. (2) has the form:

$$G(\xi) = A_1 \sinh(\xi\sqrt{-\lambda}) + A_2 \cosh(\xi\sqrt{-\lambda}) + \frac{\mu}{\lambda}, \tag{4}$$

where A_1 and A_2 are arbitrary constants. Consequently, we have

$$\psi^2 = \frac{-\lambda}{\lambda^2\sigma + \mu^2} (\phi^2 - 2\mu\psi + \lambda), \tag{5}$$

where $\sigma = A_1^2 - A_2^2$.

Case 2. If $\lambda > 0$, then the general solutions of Eq. (2) has the form:

$$G(\xi) = A_1 \sin(\xi\sqrt{\lambda}) + A_2 \cos(\xi\sqrt{\lambda}) + \frac{\mu}{\lambda} \tag{6}$$

and hence

$$\psi^2 = \frac{\lambda}{\lambda^2\sigma - \mu^2} (\phi^2 - 2\mu\psi + \lambda), \tag{7}$$

where $\sigma = A_1^2 + A_2^2$.

Case 3. If $\lambda = 0$, then the general solutions of Eq. (2) has the form:

$$G(\xi) = \frac{\mu}{2}\xi^2 + A_1\xi + A_2 \tag{8}$$

and hence

$$\psi^2 = \frac{\lambda}{\lambda^2\sigma - \mu^2} (\phi^2 - 2\mu\psi + \lambda). \tag{9}$$

Suppose we have the following nonlinear evolution equation

$$F(u, u_t, u_x, u_y, u_{xx}, \dots) = 0 \tag{10}$$

where F is a polynomial in $u(x, y, t)$ and its partial derivatives. In the following, we give the main steps of the $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method [23], [24]:

Step 1. Traveling wave transformation

$$u(x, y, t) = u(\xi), \quad \xi = x + y - \omega t, \tag{11}$$

where ω is a constant, reduces Eq.(10) to an ODE in the form:

$$P(u, u', u'', \dots) = 0, \quad (12)$$

where P is a polynomial of $u(\xi)$ and its total derivatives with respect to ξ .

Step 2. Assuming that the solution of Eq.(12) can be expressed by a polynomial in the two variables ϕ and ψ as follows:

$$u(\xi) = \sum_{i=0}^N a_i \phi^i + \sum_{j=1}^N b_j \phi^{j-1} \psi \quad (13)$$

where a_i ($i = 0, 1, \dots, N$) and b_j ($j = 1, 2, \dots, N$) are constants to be determined later.

Step 3. Determine the positive integer N in Eq.(13) by using the homogeneous balance between the highest-order derivatives and the nonlinear terms in Eq.(12).

Step 4. Substitute Eq.(13) into Eq.(12) along with (3) and (5), the left-hand side Eq.(12) can be converted into a polynomial in ϕ and ψ , in which the degree of ψ is not longer than 1. Equating each coefficients of this polynomial to zero, yields a system of algebraic equations which can be solved by using the Maple to get the values of $a_i, b_j, \omega, \mu, A_1, A_2$ and λ where $\lambda < 0$.

Step 5. Similar to step 4, substitute Eq.(13) into Eq. (12) along with (3) and (7) for $\lambda > 0$, (or (3) and (9) for $\lambda = 0$), we obtain the exact solutions of Eq.(12) expressed by trigonometric functions (or by rational functions) respectively.

3 Traveling wave solutions of system (1)

In this section, we will apply the method described in Sec.2 to find the exact traveling wave solutions of the nonlinear (2+1)-dimensional Konopelchenko-Dubrovsky system (1). Applying the transformations $u(x, y, t) = u(\xi)$ and $v(x, y, t) = v(\xi)$, where the wave variable $\xi = x + y - \omega t$, converts Eq.(1) into a system of ODE as

$$-\omega u' - u''' - 6buu' + \frac{3}{2}a^2u^2u' - 3v' + 3au'v = 0, \quad (14)$$

$$u' = v'. \quad (15)$$

We can rewrite (15) in the form

$$v = u. \quad (16)$$

Now, inserting (16) into (14) and integrating Eq. (14), yields

$$\frac{a^2}{2}u^3 + \frac{3}{2}(a - 2b)u^2 - (\omega + 3)u - u'' = \beta \quad (17)$$

with β is a constant of integration. By balancing between u'' and u^3 in Eq.(17) we get $N = 1$ (see also, [17]). Consequently, we get

$$u(\xi) = a_0 + a_1\phi + b_1\psi \quad (18)$$

where a_0, a_1 and b_1 are constants to be determined later.

There are three cases to be discussed as follows:

3.1 Hyperbolic function solutions ($\lambda < 0$)

If $\lambda < 0$, substituting (18) into (17) and using (3) and (5), the left-hand side of Eq.(17) becomes a polynomial in ϕ and ψ . Setting the coefficients of this polynomial to be zero, yields a system of algebraic equations in $a_0, a_1, b_1, \omega, \lambda$ and μ as follows:

$$\phi^3 : a^2 a_1^2 \mu^2 - 4\mu^2 - 3a^2 b_1^2 \lambda + a^2 a_1^2 \lambda^2 \sigma - 4\lambda^2 \sigma = 0,$$

$$\phi^2 \psi : 3a^2 a_1^2 \mu^2 - 4\mu^2 - a^2 b_1^2 \lambda - 4\lambda^2 \sigma + 3a^2 a_1^2 \lambda^2 \sigma = 0,$$

$$\begin{aligned} \phi^2 : & -2b_1 \lambda^3 \mu \sigma + 6aa_1^2 \lambda^2 \mu^2 \sigma - 3a^2 a_0 b_1^2 \lambda^3 \sigma + 6bb_1^2 \lambda \mu^2 + 3a^2 a_0 a_1^2 \lambda^4 \sigma^2 - 3ab_1^2 \lambda^3 \sigma - 3ab_1^2 \lambda \mu^2 \\ & + 6a^2 a_0 a_1^2 \lambda^2 \sigma \mu^2 - 6ba_1^2 \lambda^4 \sigma^2 - 2a^2 b_1^3 \lambda^2 \mu - 6ba_1^2 \mu^4 + 3a^2 a_0 a_1^2 \mu^4 + 3aa_1^2 \mu^4 - 3a^2 a_0 b_1^2 \lambda \mu^2 \\ & + 3aa_1^2 \lambda^4 \sigma^2 - 12ba_1^2 \mu^2 \lambda^2 \sigma + 6bb_1^2 \lambda^3 \sigma - 2b_1 \lambda \mu^3 = 0, \end{aligned}$$

$$\phi \psi : \mu^3 + ab_1 \mu^2 + a^2 a_0 b_1 \mu^2 - 2bb_1 \mu^2 + \lambda^2 \sigma \mu + a^2 b_1^2 \lambda \mu - 2bb_1 \lambda^2 \sigma + a^2 a_0 b_1 \lambda^2 \sigma + ab_1 \lambda^2 \sigma = 0,$$

$$\begin{aligned} \phi : & -2\mu^2 \omega + 3a^2 a_0^2 \mu^2 - 4\lambda \mu^2 - 12ba_0 \mu^2 + 6aa_0 \mu^2 - 6\mu^2 - 12ba_0 \lambda^2 \sigma + 6aa_0 \lambda^2 \sigma - 6\lambda^2 \sigma \\ & + 3a^2 a_0^2 \lambda^2 \sigma - 4\lambda^3 \sigma - 2\omega \lambda^2 \sigma - 3a^2 b_1^2 \lambda^2 = 0, \end{aligned}$$

$$\begin{aligned} \psi : & 12aa_0 \lambda^2 \sigma \mu^2 + 6a^2 a_0^2 \lambda^2 \sigma \mu^2 - 24ba_0 \lambda^2 \sigma \mu^2 + 2\lambda \mu^4 - 2\omega \mu^4 - 4\omega \lambda^2 \sigma \mu^2 + 6aa_0 \lambda^4 \sigma^2 \\ & - 12ba_0 \lambda^4 \sigma^2 + 3a^2 b_1^2 \lambda^2 \mu^2 - a^2 b_1^2 \lambda^4 \sigma + 3a^2 a_0^2 \lambda^4 \sigma^2 - 12bb_1 \lambda^3 \sigma \mu + 6ab_1 \lambda^3 \sigma \mu \\ & + 6a^2 b_1 a_0 \lambda \mu^3 - 2\omega \lambda^4 \sigma^2 + 6aa_0 \mu^4 + 3a^2 a_0^2 \mu^4 - 12ba_0 \mu^4 - 12bb_1 \lambda \mu^3 + 6ab_1 \lambda \mu^3 \\ & + 6a^2 b_1 a_0 \lambda^3 \sigma \mu - 2\lambda^5 \sigma^2 - 6\lambda^4 \sigma^2 - 12\lambda^2 \sigma \mu^2 - 6\mu^4 = 0, \end{aligned}$$

$$\begin{aligned} \phi^0 : & -6a_0 \lambda^4 \sigma^2 - 2\beta \lambda^4 \sigma^2 - 6a_0 \mu^4 - 2\beta \mu^4 + 3aa_0^2 \mu^4 - 2\omega a_0 \mu^4 - 6ba_0^2 \mu^4 + a^2 a_0^2 \mu^4 - 2b_1 \lambda^2 \mu^3 \\ & - 3a^2 a_0 b_1^2 \lambda^4 \sigma - 3a^2 a_0 b_1^2 \lambda^2 \mu^2 + 6aa_0^2 \lambda^2 \sigma \mu^2 - 4\omega a_0 \lambda^2 \sigma \mu^2 - 12ba_0^2 \lambda^2 \sigma \mu^2 + 2a^2 a_0^3 \lambda^2 \sigma \mu^2 \\ & - 2a^2 b_1^3 \lambda^3 \mu + 3aa_0^2 \lambda^4 \sigma^2 - 2\omega a_0 \lambda^4 \sigma^2 - 6ba_0^2 \lambda^4 \sigma^2 + a^2 a_0^3 \lambda^4 \sigma^2 - 12a_0 \lambda^2 \sigma \mu^2 - 4\beta \lambda^2 \sigma \mu^2 \\ & - 2b_1 \lambda^4 \sigma \mu - 3ab_1^2 \lambda^4 \sigma - 3ab_1^2 \lambda^2 \mu^2 + 6bb_1^2 \lambda^4 \sigma + 6bb_1^2 \lambda^2 \mu^2 = 0. \end{aligned}$$

On solving the above algebraic equations using the Maple, we get the following results:

$$\begin{aligned} a_0 &= -\frac{a-2b}{a^2}, \quad a_1 = \mp \frac{1}{a}, \quad b_1 = \mp \frac{1}{a} \sqrt{\frac{\mu^2 + \lambda^2 \sigma}{-\lambda}}, \\ \omega &= -\frac{9a^2 + a^2 \lambda - 12ab + 12b^2}{2a^2}, \quad \beta = -\frac{a^3 - 6a^2 b + 12ab^2 - 8b^3 + a^3 \lambda - 2a^2 b \lambda}{2a^4}. \end{aligned}$$

In this case, the exact solution of Eq.(17) has the form:

$$\begin{aligned} u_1(\xi) &= -\frac{a-2b}{a^2} + \frac{1}{a} \sqrt{-\lambda} \frac{A_1 \cosh(\xi \sqrt{-\lambda}) + A_2 \sinh(\xi \sqrt{-\lambda})}{A_1 \sinh(\xi \sqrt{-\lambda}) + A_2 \cosh(\xi \sqrt{-\lambda}) + \frac{\mu}{\lambda}} \\ &+ \frac{1}{a} \sqrt{\frac{\mu^2 + \lambda^2 \sigma}{-\lambda}} \frac{1}{A_1 \sinh(\xi \sqrt{-\lambda}) + A_2 \cosh(\xi \sqrt{-\lambda}) + \frac{\mu}{\lambda}}, \\ u_2(\xi) &= -\frac{a-2b}{a^2} - \frac{1}{a} \sqrt{-\lambda} \frac{A_1 \cosh(\xi \sqrt{-\lambda}) + A_2 \sinh(\xi \sqrt{-\lambda})}{A_1 \sinh(\xi \sqrt{-\lambda}) + A_2 \cosh(\xi \sqrt{-\lambda}) + \frac{\mu}{\lambda}} \\ &- \frac{1}{a} \sqrt{\frac{\mu^2 + \lambda^2 \sigma}{-\lambda}} \frac{1}{A_1 \sinh(\xi \sqrt{-\lambda}) + A_2 \cosh(\xi \sqrt{-\lambda}) + \frac{\mu}{\lambda}} \end{aligned} \tag{19}$$

where μ is an arbitrary constant, $\sigma = A_1^2 - A_2^2$ and $\xi = x + y + \left(\frac{9a^2 + a^2 \lambda - 12ab + 12b^2}{2a^2}\right) t$.

If $A_1 = 0, A_2 \neq 0$ and $\mu = 0$, then we have the solitary wave solution

$$\begin{aligned}
 u_1(x, y, t) &= v_1(x, y, t) \\
 &= -\frac{a-2b}{a^2} + \frac{1}{a}\sqrt{-\lambda} \left\{ \begin{aligned} &\tanh \left[\left(x + y + \frac{9a^2+a^2\lambda-12ab+12b^2}{2a^2}t \right) \sqrt{-\lambda} \right] \\ &+ \operatorname{sech} \left[\left(x + y + \frac{9a^2+a^2\lambda-12ab+12b^2}{2a^2}t \right) \sqrt{-\lambda} \right] \end{aligned} \right\}, \\
 u_2(x, y, t) &= v_2(x, y, t) \\
 &= -\frac{a-2b}{a^2} - \frac{1}{a}\sqrt{-\lambda} \left\{ \begin{aligned} &\tanh \left[\left(x + y + \frac{9a^2+a^2\lambda-12ab+12b^2}{2a^2}t \right) \sqrt{-\lambda} \right] \\ &+ \operatorname{sech} \left[\left(x + y + \frac{9a^2+a^2\lambda-12ab+12b^2}{2a^2}t \right) \sqrt{-\lambda} \right] \end{aligned} \right\}
 \end{aligned} \tag{20}$$

If $A_1 \neq 0, A_2 = 0$ and $\mu = 0$, then we have the solitary wave solution

$$\begin{aligned}
 u_1(x, y, t) &= v_1(x, y, t) \\
 &= -\frac{a-2b}{a^2} + \frac{1}{a}\sqrt{-\lambda} \left\{ \begin{aligned} &\coth \left[\left(x + y + \frac{9a^2+a^2\lambda-12ab+12b^2}{2a^2}t \right) \sqrt{-\lambda} \right] \\ &+ \operatorname{cosech} \left[\left(x + y + \frac{9a^2+a^2\lambda-12ab+12b^2}{2a^2}t \right) \sqrt{-\lambda} \right] \end{aligned} \right\} \\
 u_2(x, y, t) &= v_2(x, y, t) \\
 &= -\frac{a-2b}{a^2} - \frac{1}{a}\sqrt{-\lambda} \left\{ \begin{aligned} &\coth \left[\left(x + y + \frac{9a^2+a^2\lambda-12ab+12b^2}{2a^2}t \right) \sqrt{-\lambda} \right] \\ &+ \operatorname{cosech} \left[\left(x + y + \frac{9a^2+a^2\lambda-12ab+12b^2}{2a^2}t \right) \sqrt{-\lambda} \right] \end{aligned} \right\}
 \end{aligned} \tag{21}$$

3.2 Trigonometric function solutions ($\lambda > 0$)

If $\lambda > 0$, substituting (18) into (17) and using (3) and (7), the left-hand side of Eq.(17) becomes a polynomial in ϕ and ψ . Setting the coefficients of this polynomial to be zero, yields a system of algebraic equations in $a_0, a_1, b_1, \omega, \lambda$ and μ as follows:

$$\phi^3 : a^2 a_1^2 \mu^2 - 4\mu^2 - 3a^2 b_1^2 \lambda + 4\lambda^2 \sigma - a^2 a_1^2 \lambda^2 \sigma = 0,$$

$$\phi^2 \psi : -4\mu^2 + 3a_1^2 a^2 \mu^2 - a^2 b_1^2 \lambda - 3a^2 a_1^2 \lambda^2 \sigma + 4\lambda^2 \sigma = 0,$$

$$\begin{aligned}
 \phi^2 : &-6aa_1^2 \lambda^2 \sigma \mu^2 + 2b_1 \lambda^3 \sigma \mu - 3a^2 a_0 b_1^2 \lambda \mu^2 + 3a^2 a_0 a_1^2 \mu^4 + 6bb_1^2 \lambda \mu^2 + 3ab_1^2 \lambda^3 \sigma \\
 &-6bb_1^2 \lambda^3 \sigma + 3aa_1^2 \mu^4 - 2a^2 b_1^3 \lambda^2 \mu + 3a^2 a_0 b_1^2 \lambda^3 \sigma - 3ab_1^2 \lambda \mu^2 + 3aa_1^2 \lambda^4 \sigma^2 - 6ba_1^2 \mu^4 \\
 &+ 12ba_1^2 \lambda^2 \sigma \mu^2 + 3a^2 a_0 a_1^2 \lambda^4 \sigma^2 - 6a^2 a_0 a_1^2 \lambda^2 \sigma \mu^2 - 2b_1 \lambda \mu^3 = 0,
 \end{aligned}$$

$$\phi \psi : \mu^3 + a^2 a_0 b_1 \mu^2 + ab_1 \mu^2 - 2bb_1 \mu^2 - \lambda^2 \sigma \mu + a^2 b_1^2 \lambda \mu - a^2 a_0 b_1 \lambda^2 \sigma - ab_1 \lambda^2 \sigma + 2bb_1 \lambda^2 \sigma = 0,$$

$$\begin{aligned}
 \phi : &3a^2 a_0^2 \mu^2 - 2\omega \mu^2 + 6aa_0 \mu^2 - 12ba_0 \mu^2 - 6\mu^4 - 4\lambda \mu^2 + 4\lambda^3 \sigma - 3a^2 b_1^2 \lambda^2 - 3a^2 a_0^2 \lambda^2 \sigma \\
 &+ 2\omega \lambda^2 \sigma + 12ba_0 \lambda^2 \sigma + 6\lambda^2 \sigma - 6aa_0 \lambda^2 \sigma = 0,
 \end{aligned}$$

$$\begin{aligned}
 \psi : &-6\lambda^4 \sigma^2 + 12\lambda^2 \sigma \mu^2 - 6\mu^4 + 24ba_0 \lambda^2 \sigma \mu^2 - 6a^2 a_0^2 \lambda^2 \sigma \mu^2 - 12aa_0 \lambda^2 \sigma \mu^2 - 2\lambda^5 \sigma^2 \\
 &+ 2\lambda \mu^4 - 2\omega \mu^4 + 3a^2 a_0^2 \lambda^4 \sigma^2 + 6aa_0 \lambda^4 \sigma^2 + 3a^2 b_1^2 \lambda^2 \mu^2 - 12ba_0 \lambda^4 \sigma^2 + a^2 b_1^2 \lambda^4 \sigma \\
 &+ 4\omega \lambda^2 \sigma \mu^2 - 6ab_1 \lambda^3 \sigma \mu + 12bb_1 \lambda^3 \sigma \mu + 6a^2 a_0 b_1 \lambda \mu^3 + 3a^2 a_0^2 \mu^4 - 2\omega \lambda^4 \sigma^2 + 6aa_0 \mu^4 \\
 &- 12ba_0 \mu^4 + 6ab_1 \lambda \mu^3 - 12bb_1 \lambda \mu^3 - 6a^2 a_0 b_1 \lambda^3 \sigma \mu = 0,
 \end{aligned}$$

$$\begin{aligned}
 \phi^0 : &-6a_0 \mu^4 - 2\beta \mu^4 - 6a_0 \lambda^4 \sigma^2 - 2\beta \lambda^4 \sigma^2 - 2\omega a_0 \mu^4 - 6ba_0^2 \mu^4 + a^2 a_0^3 \mu^4 + 3aa_0^2 \mu^4 - 2b_1 \lambda^2 \mu^3 \\
 &+ 3a^2 a_0 b_1^2 \lambda^4 \sigma - 3a^2 a_0 b_1^2 \lambda^2 \mu^2 + 4\omega a_0 \lambda^2 \sigma \mu^2 + 12ba_0^2 \lambda^2 \sigma \mu^2 - 2a^2 a_0^3 \lambda^2 \sigma \mu^2 - 6aa_0^2 \lambda^2 \sigma \mu^2 \\
 &- 2a^2 b_1^3 \lambda^3 \mu - 2\omega a_0 \lambda^4 \sigma^2 - 6ba_0^2 \lambda^4 \sigma^2 + a^2 a_0^3 \lambda^4 \sigma^2 + 3aa_0^2 \lambda^4 \sigma^2 + 12a_0 \lambda^2 \sigma \mu^2 + 4\beta \lambda^2 \sigma \mu^2 \\
 &+ 3ab_1^2 \lambda^4 \sigma - 3ab_1^2 \lambda^2 \mu^2 - 6bb_1^2 \lambda^4 \sigma + 6bb_1^2 \lambda^2 \mu^2 + 2b_1 \lambda^4 \sigma \mu = 0.
 \end{aligned}$$

On solving the above algebraic equations using the Maple, we get the following results:

$$a_0 = -\frac{a-2b}{a^2}, \quad a_1 = \mp \frac{1}{a}, \quad b_1 = \mp \frac{1}{a} \sqrt{\frac{\mu^2 - \lambda^2 \sigma}{\lambda}},$$

$$\omega = -\frac{9a^2 - 12ab + 12b^2 + a^2 \lambda}{2a^2}, \quad \beta = -\frac{a^3 - 6a^2b + 12ab^2 - 8b^3 + a^3 \lambda - 2a^2 b \lambda}{2a^4}.$$

In this case, the exact solution of Eq.(17) has the form:

$$u_1(\xi) = -\frac{a-2b}{a^2} + \frac{1}{a} \sqrt{\lambda} \frac{A_1 \cos(\xi \sqrt{\lambda}) - A_2 \sin(\xi \sqrt{\lambda})}{A_1 \sin(\xi \sqrt{\lambda}) + A_2 \cos(\xi \sqrt{\lambda}) + \frac{\mu}{\lambda}}$$

$$+ \frac{\frac{1}{a} \sqrt{\frac{(\lambda^2 \sigma - \mu^2)}{\lambda}}}{A_1 \sin(\xi \sqrt{\lambda}) + A_2 \cos(\xi \sqrt{\lambda}) + \frac{\mu}{\lambda}},$$

$$u_2(\xi) = -\frac{a-2b}{a^2} - \frac{1}{a} \sqrt{\lambda} \frac{A_1 \cos(\xi \sqrt{\lambda}) - A_2 \sin(\xi \sqrt{\lambda})}{A_1 \sin(\xi \sqrt{\lambda}) + A_2 \cos(\xi \sqrt{\lambda}) + \frac{\mu}{\lambda}}$$

$$- \frac{\frac{1}{a} \sqrt{\frac{(\lambda^2 \sigma - \mu^2)}{\lambda}}}{A_1 \sin(\xi \sqrt{\lambda}) + A_2 \cos(\xi \sqrt{\lambda}) + \frac{\mu}{\lambda}} \tag{22}$$

where μ is an arbitrary constant, $\sigma = A_1^2 + A_2^2$ and $\xi = x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2 \lambda}{2a^2}\right) t$.

If $A_1 = 0, A_2 \neq 0$ and $\mu = 0$, then we have the solitary wave solution

$$u_1(x, y, t) = v_1(x, y, t)$$

$$= -\frac{a-2b}{a^2} + \frac{1}{a} \sqrt{\lambda} \left\{ \begin{array}{l} -\tan \left[\left(x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2 \lambda}{2a^2} \right) t \right) \sqrt{\lambda} \right] \\ + i \sec \left[\left(x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2 \lambda}{2a^2} \right) t \right) \sqrt{\lambda} \right] \end{array} \right\},$$

$$u_2(x, y, t) = v_2(x, y, t)$$

$$= -\frac{a-2b}{a^2} + \frac{1}{a} \sqrt{\lambda} \left\{ \begin{array}{l} \tan \left[\left(x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2 \lambda}{2a^2} \right) t \right) \sqrt{\lambda} \right] \\ + i \sec \left[\left(x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2 \lambda}{2a^2} \right) t \right) \sqrt{\lambda} \right] \end{array} \right\}. \tag{23}$$

If $A_1 \neq 0, A_2 = 0$ and $\mu = 0$, then we have the solitary wave solution

$$u_1(x, y, t) = v_1(x, y, t)$$

$$= -\frac{a-2b}{a^2} + \frac{1}{a} \sqrt{\lambda} \left\{ \begin{array}{l} \cot \left[\left(x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2 \lambda}{2a^2} \right) t \right) \sqrt{\lambda} \right] \\ + i \operatorname{cosec} \left[\left(x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2 \lambda}{2a^2} \right) t \right) \sqrt{\lambda} \right] \end{array} \right\}$$

$$u_2(x, y, t) = v_2(x, y, t)$$

$$= -\frac{a-2b}{a^2} - \frac{1}{a} \sqrt{\lambda} \left\{ \begin{array}{l} \cot \left[\left(x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2 \lambda}{2a^2} \right) t \right) \sqrt{\lambda} \right] \\ + i \operatorname{cosec} \left[\left(x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2 \lambda}{2a^2} \right) t \right) \sqrt{\lambda} \right] \end{array} \right\}. \tag{24}$$

3.3 Rational function solutions ($\lambda = 0$)

If $\lambda = 0$, substituting (18) into (17) and using (3) and (9), the left-hand side of Eq.(17) becomes a polynomial in ϕ and ψ . Setting the coefficients of this polynomial to be zero, yields a system of algebraic equations in $a_0, a_1, b_1, \omega, \lambda$ and μ as

follows:

$$\phi^3 : a^2 a_1^2 A_1^2 - 4A_1^2 + 8A_2\mu - 2a^2 a_1^2 A_2\mu + 3a^2 b_1^2 = 0,$$

$$\phi^2\psi : 3a^2 a_1^2 A_1^2 - 4A_1^2 - 6a^2 a_1^2 A_2\mu + a^2 b_1^2 + 8A_2\mu = 0,$$

$$\begin{aligned} \phi^2 : & 2b_1 A_1^2 \mu - 4b_1 A_2 \mu^2 + 12aa_1^2 A_2^2 \mu^2 - 24ba_1^2 A_2^2 \mu^2 - 2a^2 b_1^3 \mu - 6bb_1^2 A_1^2 + 3a^2 a_0 b_1^2 A_1^2 \\ & - 12a^2 a_0 a_1^2 A_1^2 A_2 \mu - 6ab_1^2 A_2 \mu + 12bb_1^2 A_2 \mu - 6a^2 a_0 b_1^2 A_2 \mu + 3ab_1^2 A_1^2 - 12aa_1^2 A_1^2 A_2 \mu \\ & + 12a^2 a_0 a_1^2 A_2^2 \mu + 3aa_1^2 A_1^4 - 6ba_1^2 A_1^4 + 3a^2 a_0 a_1^2 A_1^4 + 24ba_1^2 A_1^2 A_2 \mu = 0, \end{aligned}$$

$$\phi\psi : a^2 a_0 b_1 A_1^2 + ab_1 A_1^2 - 2bb_1 A_1^2 + A_1^2 \mu - 2ab_1 A_2 \mu - a^2 b_1^2 \mu + 4bb_1 A_2 \mu - 2a^2 a_0 b_1 A_2 \mu - 2A_2 \mu^2 = 0,$$

$$\phi : -2\omega + 6aa_0 - 12ba_0 + 3a^2 a_0^2 - 6 = 0,$$

$$\begin{aligned} \psi : & 4a^2 b_1^2 \mu^2 - 24bb_1 A_2 \mu^2 + 12bb_1 A_1^2 \mu - 6a^2 a_0 b_1 A_1^2 \mu - 6ab_1 A_1^2 \mu + 12ab_1 A_2 \mu^2 \\ & + 12a^2 a_0 b_1 A_2 \mu^2 + 12a^2 a_0^2 A_2^2 \mu^2 - 2\omega A_1^4 - 24A_2^2 \mu^2 - 4A_1^2 \mu^2 + 8A_2 \mu^3 - 8\omega A_2^2 \mu^2 \\ & + 48ba_0 A_1^2 A_2 \mu + 6aa_0 A_1^4 - 12ba_0 A_1^4 + 3a^2 a_0^2 A_1^4 - 6A_1^4 + 24aa_0 A_2^2 \mu^2 + 24A_1^2 A_2 \mu \\ & - 48ba_0 A_2^2 \mu^2 - 24aa_0 A_1^2 A_2 \mu - 12a^2 a_0^2 A_1^2 A_2 \mu + 8\omega A_1^2 A_2 \mu = 0, \end{aligned}$$

$$\phi^0 : -2\omega a_0 - 6a_0 - 6ba_0^2 + a^2 a_0^3 + 3aa_0^2 - 2\beta = 0.$$

On solving the above algebraic equations using the Maple, we get the following results:

$$\begin{aligned} a_0 &= -\frac{a-2b}{a^2}, \quad a_1 = \mp \frac{1}{a}, \quad b_1 = \mp \frac{\sqrt{A_1^2 - 2\mu A_2}}{a}, \\ \omega &= -\frac{3(3a^2 - 4ab + 4b^2)}{2a^2}, \quad \beta = -\frac{(a-2b)^3}{2a^4}. \end{aligned}$$

In this case, the exact solution of Eq.(17) has the form:

$$\begin{aligned} u_1(\xi) &= -\frac{a-2b}{a^2} + \frac{1}{a} \frac{\mu\xi + A_1}{\frac{\mu}{2}\xi^2 + A_1\xi + A_2} \\ &\quad + \frac{\sqrt{A_1^2 - 2\mu A_2}}{a} \frac{1}{\frac{\mu}{2}\xi^2 + A_1\xi + A_2}, \\ u_2(\xi) &= -\frac{a-2b}{a^2} - \frac{1}{a} \frac{\mu\xi + A_1}{\frac{\mu}{2}\xi^2 + A_1\xi + A_2} \\ &\quad - \frac{\sqrt{A_1^2 - 2\mu A_2}}{a} \frac{1}{\frac{\mu}{2}\xi^2 + A_1\xi + A_2} \end{aligned} \tag{25}$$

where μ is an arbitrary constant and $\xi = x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2\lambda}{2a^2}\right) t$. We have the solitary wave solution

$$\begin{aligned}
 u_1(x, y, t) &= v_1(x, y, t) \\
 &= -\frac{a-2b}{a^2} + \frac{1}{a} \frac{\mu \left[x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2\lambda}{2a^2}\right) t \right] + A_1}{\left\{ \begin{array}{l} \frac{\mu}{2} \left[x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2\lambda}{2a^2}\right) t \right]^2 \\ + A_1 \left[x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2\lambda}{2a^2}\right) t \right] + A_2 \end{array} \right\}} \\
 &\quad + \frac{\sqrt{A_1^2 - 2\mu A_2}}{a} \frac{1}{\left\{ \begin{array}{l} \frac{\mu}{2} \left[x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2\lambda}{2a^2}\right) t \right]^2 \\ + A_1 \left[x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2\lambda}{2a^2}\right) t \right] + A_2 \end{array} \right\}}, \\
 u_2(x, y, t) &= v_2(x, y, t) \\
 &= -\frac{a-2b}{a^2} + \frac{1}{a} \frac{\mu \left[x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2\lambda}{2a^2}\right) t \right] + A_1}{\left\{ \begin{array}{l} \frac{\mu}{2} \left[x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2\lambda}{2a^2}\right) t \right]^2 \\ + A_1 \left[x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2\lambda}{2a^2}\right) t \right] + A_2 \end{array} \right\}} \\
 &\quad - \frac{\sqrt{A_1^2 - 2\mu A_2}}{a} \frac{1}{\left\{ \begin{array}{l} \frac{\mu}{2} \left[x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2\lambda}{2a^2}\right) t \right]^2 \\ + A_1 \left[x + y + \left(\frac{9a^2 - 12ab + 12b^2 + a^2\lambda}{2a^2}\right) t \right] + A_2 \end{array} \right\}}.
 \end{aligned}
 \tag{26}$$

4 Conservation laws

In this section, we construct conservation laws for (1). For the details see e. g., [22, 27, 34] and [35].

Consider a k th-order system of partial differential equations (PDEs) of n independent variables $x = (x^1, x^2, \dots, x^n)$ and m dependent variables $u = (u^1, u^2, \dots, u^m)$, namely

$$E_\alpha(x, u, u_{(1)}, \dots, u_{(k)}) = 0, \quad \alpha = 1, \dots, m, \tag{27}$$

where $u_{(1)}, u_{(2)}, \dots, u_{(k)}$ denote the collections of all first, second, ..., k th order partial derivatives, i. e., $u_i^\alpha = D_i(u^\alpha)$, $u_{ij}^\alpha = D_j D_i(u^\alpha)$, ..., respectively, with the total derivative operator with respect to x^i is given by

$$D_i = \frac{\partial}{\partial x^i} + u_i^\alpha \frac{\partial}{\partial u^\alpha} + u_{ij}^\alpha \frac{\partial}{\partial u_j^\alpha} + \dots, \quad j = 1, \dots, n, \tag{28}$$

where the summation convention is used whenever appropriate. The n -tuple vector

$$T = (T^1, T^2, \dots, T^n), \quad T^j \in A, \quad j = 1, \dots, n,$$

is a conserved vector of (27) if T^i satisfied

$$D_i T^i|_{(27)} = 0. \tag{29}$$

The equation (29) is called a local consevation law of system (27).

It can be shown that every admittted consevation laws arises from multipliers $Q^\alpha(x, u, u_{(1)}, \dots)$ such that

$$Q^\alpha E_\alpha = D_i T^i, \tag{30}$$

holds identically. In the multiplier approach for conservation laws, one takes the variational derivative of (30) that is,

$$\frac{\delta}{\delta u^\beta} (Q^\alpha E_\alpha) = 0, \tag{31}$$

holds for arbitrary functions of $u(x^1, x^2, \dots, x^n)$. Here we will consider multipliers of the second order $\Lambda_\alpha = \Lambda_\alpha(x, t, u, v, u_x, v_x, u_{xx}, v_{xx})$. Once the multipliers are obtained the conserved vectors are calculated via a homoty formula [35] and [37].

4.1 Conservation laws of system (1)

For the Konopelchenko-Dubrovsky system (1), we see that the three multipliers (with the aid of GeM [27], see also [36]-[37]), namely $\Lambda_1(x, t, u, v)$, $\Lambda_2(x, t, u, v)$ are given by

$$\Lambda_1 = \frac{1}{3}(-c_1 au - c_2),$$

$$\Lambda_2 = F(t) + \frac{1}{2}(2v + au^2)c_1 + c_2u +$$

where $C_i, i = 1, 2$ are arbitrary constants and $F(t)$ is arbitrary function of t .

Corresponding to the above multipliers we have the following three conserved vectors of (1) as

$$\begin{aligned} C_1^t &= -\frac{1}{6}u^2, \\ C_1^x &= -\frac{1}{8}a^2u^4 + \frac{2}{3}bu^3 - \frac{1}{2}au^2v + \frac{1}{3}uu_{xx} - \frac{1}{6}u_x^2 - \frac{1}{2}v^2, \\ C_1^y &= -\frac{1}{6}au^3 + uv, \\ C_2^t &= -\frac{1}{3a}u, \\ C_2^x &= -\frac{a^2u^3 - 6bu^2 + 6auv - 2u_{xx}}{6a}, \\ C_2^y &= \frac{2v + au^2}{2a}, \\ C_3^t &= 0, \\ C_3^x &= -vF(t), \\ C_3^y &= uF(t). \end{aligned}$$

5 Concluding remarks

In the present work, we have succeeded in implementing and applying the $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method for finding some traveling wave solutions of the (2 + 1)-dimensional Konopelchenko-Dubrovsky system. The obtained exact solutions can be used as benchmarks against the numerical simulations. Some of these results are in agreement with the results reported by others in the literature, and new results are formally developed in this work. From our results obtained in this paper, we conclude that the $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method is powerful, effective and convenient for NLEEs. As one can see, this method has more general applications than the other methods.

Moreover, we constructed conservation laws for the system (1) via the multiplier approach. For the system (1), this method gave rise to three multipliers and thus three conserved vectors were obtained. The conserved vectors obtained here can be used in reductions and solutions of the underlying system [38].

References

- [1] A. Bekir. New solitons and periodic wave solutions for some nonlinear physical models by using the sine–cosine method. *Phys. Scr.* 77(2008): 045008.
- [2] N. A. Kudryashov and N. B. Loguinova. Extended simplest equation method for nonlinear differential equations. *Applied Mathematics and Computation.* 205(2008): 396–402.
- [3] M. J. Ablowitz and H. Segur. Solitons and Inverse Scattering Transform. *Philadelphia, PA: SIAM.* (1981).
- [4] R. Hirota. Direct method of finding exact solutions of nonlinear evolution equations. *Berlin: Springer-Verlag.* (1980): 1157–1175.
- [5] W. Malfliet. Solitary wave solutions of nonlinear wave equations. *American Journal of Physics.* 60(1992): 650–654.

- [6] A. M. Wazwaz. The tanh method for travelling wave solutions of nonlinear equations. *Applied Mathematics and Computation*. 154(2004): 713–723.
- [7] E. Fan. Extended tanh-function method and its applications to nonlinear equations. *Physics Letters A*. 277(2000).
- [8] E. Fan et al.. Applications of extended tanh method to ‘special’ types of nonlinear equations. *Applied Mathematics and Computation*. 141(2003): 351–358.
- [9] A. M. Wazwaz. A sine–cosine method for handling nonlinear wave equations. *Mathematical and Computer Modelling*. 40(2004): 499–508.
- [10] A. M. Wazwaz. The sine–cosine method for obtaining solutions with compact and noncompact structures. *Applied Mathematics and Computation*. 159(2004): 559–576.
- [11] E. Yusufoglu and A. Bekir. Solitons and periodic solutions of coupled nonlinear evolution equations by using the sine–cosine method. *International Journal of Computer Mathematics*. 83(2006): 915–924.
- [12] E. Fan and H. Zhang. A note on the homogeneous balance method. *Physics Letters A*. 246(1998): 403–406.
- [13] M. L. Wang. Exact solutions for a compound KdV–Burgers equation. *Physics Letters A*. 213(1996): 279–287.
- [14] P. Rosenau and J. M. Hyman. Compactons: solitons with finite wavelengths. *Physical Review Letters*. 70(1993): 564–567.
- [15] M. L. Wang et al.. The (G'/G) -expansion method and traveling wave solutions of nonlinear evolution equations in mathematical physics. *Phys. Lett. A*. 372(2008): 417–423.
- [16] E. M. E. Zayed and K. A. Gepreel. The (G'/G) -expansion method for finding traveling wave solutions of nonlinear partial differential equations in mathematical physics. *J. Math. Phys.* 50(2009): 013502–013513.
- [17] A. Bekir. Application of the (G'/G) -expansion method for nonlinear evolution equations. *Phys.Lett. A*. 372(2008): 3400–3406.
- [18] J. H. He and X. H. Wu. Exp-function method for nonlinear wave equations. *Chaos, Solitons & Fractals*. 30(2006): 700–708.
- [19] J. H. He and X. H. Wu. Construction of solitary solution and compacton-like solution by variational iteration method. *Chaos, Solitons & Fractals*. 29(2006)(1): 108–13.
- [20] J. H. He. Application of homotopy perturbation method to nonlinear wave equations. *Chaos, Solitons & Fractals*. 26(2005)(3): 695–700.
- [21] L. Zhang and C. M. Kahique. Exact solitary wave and periodic wave solutions of the Kaup-Kuperschmit equation. *Journal of Applied Analysis and Computation*. 5(2015): 485–495.
- [22] P. J. Olver. Application of Lie groups to Differential Equations. *Springer-Verlag, New York*. (1993).
- [23] X. L. Li et al.. The $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method and its application to traveling wave solutions of Zakharov equations. *Appl. Math. J. Chinese Univ.* 25(2010): 454–462.
- [24] E. M. E. Zayed and M. A. M. Abdelaziz. The two variable $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method for solving the nonlinear KdV-mKdV equation. *Math. Prob. Engineering*. (2012).
- [25] S. Demiray, Ö Ünsal and A. Bekir. Exact solutions of nonlinear wave equations using $(G'/G, 1/G)$ -expansion method. *Journal of the Egyptian Mathematical Society* 23(2015): 78–84.
- [26] E. M. E. Zayed and S. A. Hoda Ibrahim. The two variable $\left(\frac{G'}{G}, \frac{1}{G}\right)$ -expansion method for finding exact traveling wave solutions of the $(3 + 1)$ -dimensional nonlinear potential Yu-Toda-Sasa-Fukuyama equation. *International Conference on Advanced Computer Science and Electronics Information*.
- [27] A. F. Cheviakov. Gem software package for computation of symmetries and conservation laws of differential equations. *Comput Phys Commun*. 176(2007): 48–61.
- [28] R. J. LeVeque. Numerical methods for Conservation laws. *Lec. in Math.* (1992).
- [29] T. Wolf. A comparison of four approaches to the calculation of conservation laws. *European Journal of Applied Mathematics*. 2(2002): 129–152.
- [30] B. G. Konopelchenko and V. G. Dubrovsky. Some new integrable nonlinear evolution equations in 2+1 dimensions. *Phys Lett A*. 102(1984).
- [31] A. Maccari. A new integrable Davey–Stewartson-type equation. *J Math Phys*. 40(1999): 3971.
- [32] T C. Xia. et al.. Symbolic computation and new families of exact soliton-like solutions of Konopelchenko–Dubrovsky equations. *Chaos, Solitons & Fractals*. 20(2004): 561–566.
- [33] D. Wang and H. Q. Zhang. Further improved F-expansion method and new exact solutions of Konopelchenko–Dubrovsky equation. *Chaos, Solitons & Fractals*. 25(2012): 601–61.

- [34] H. Steudel. Uber die zuordnung zwischen invarianzeigenschaften und erhaltungssätzen. *Z. Naturforsch.* 17(1962): 129–132.
- [35] S. C. Anco and G. W. Bluman. Direct construction method for conservation laws of partial differential equations. Part I: examples of conservation law classifications. *Eur. J. Appl. Math.* 13(2002): 545-566.
- [36] A. R. Adem and C. M. Khalique. New exact solutions and conservation laws of a coupled Kadomtsev–Petviashvili system. *Computers & Fluids.* 81(2013): 10–16.
- [37] A. R. Adem and C. M. Khalique. Symmetry reductions, exact solutions and conservation laws of a new coupled KdV system. *Commun Nonlinear Sci Numer Simulat.* 17(2012): 3465–3475.
- [38] A. H. Bokhari et al.. Double reduction of a nonlinear (2+1) wave equation via conservation laws, *Commun. Nonlinear Sci. Numer. Simulat.* 16(2011): 1244–1253.